FeTEl (AR a4 5 55D I BM = A &A= 5 = X i3 FFEICE

19924898 TH~20E (B) HE ART=AORQE=—F

BEW&BIE 30,000,000 . =2—F ~—Fa—F
el S e gl RO =S 1R 2R 3R QF SF FINAL
® 1 F A-E B RGN ek -

Q 2 % B-% B REBSHAP— BE- AW |
Q 3 & b o kK- RRAD— 6162 A BR
LB on-m 4 (MEARBKY)— - FE 6-2
Q 5 @ F B EMEXH— 6704 r BE ] 61
bR KR % (BEEBRR TA - BR
TR b B (BERE®D S 62
b E m-E B BEGAAS ) ARty | 64
Y ® R-f ¥ (EME X H— 610664 W - R
0% W% m MAEe-T{r/BR— @M% BFE 62
Q1 A B (ME¥EKFR— 6163 LB 76
Q12 W B-E B (GYsxETee790) (T-1) T R
@135 B A-M N GI--tity) 62
MW FoE R (RAEERS B R | B 61
Qs B - & (8 MM A A— 456161 B - Wl
wele 2 A-d ™M (RiREAK-B/ETO) BP - A PR 6—2
wu g Weom m (EZETC)% 6 4
8 M A L B (B A B W) w4 - F
9K BB B (EME KX P 776
Qu kW EME K ko ww [TE AR -6
QU P WM O GEKE-8ExD— 6226 75 MR- ER| 6-7
noE X-m b (REFEKFR— —H-XE 6-2 (65—
8 o~ Mok B Ghoaotgan— 1660 63 e R e g4
©@u M B-E R (LEFL AN A - BR
® 25 /A R B (IFabaE-Y-hRR) AR - DO 6—3
Qu @ B-M 0 EEEEER— BE-M0 [t 3-6
27 HEiEHk-A B R4y - 3IVS0) 6-1 6-2 R - WD 6—3
B OZ Ak B (BELERXE)— R HE 7=6
19O R OB G- ERSSO— 6068 R FE ] gy
0% K- W GEEAZ-700) 6-3 |- MR
3 ¥ H-F 0 (79—'79‘f1}‘/7\#—"/)————1 6—7
oE WK B GEACTERD—) PR K ﬁi 2 (a1
3% XK -#% F (= b4 %) 6-3 7-5 ' R - WE 6—3
3K K% W (B B Kk F)— AH - BE 6-4  6-3
wom MmO BT O 61w tifﬁ‘_:"’% 4-6
D% & WM B Gir- RS 62 W -
® 3 % W-REE EIMERAR73-9) 64
3 oE - & ERFEATR— ER-wm | oL FTE 6—0
L3 k AW B GkEh-Ja)—] 5175 il -
QU kW A (RARORIKEI)— TR EE [ 376
1w k- N (Em#mﬁ%k)% 6—4
12 kB B (APATS-AERD 6-0 |- BT
3% KoM L (R/ETC-RRERAD _ 7-%
4 B OB (7 o= — - e 6~1
45 A BA-= W (FEM&&F X3P 7-6(7) 6-1 fRE - B
6 B R-E B REAKEE— AB-dH o[ 64
M W K (B mzﬁ)m 6—4
@4 | @B-"8 A J)-v1C-79-)






